ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnaguBocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

Mo Bonpocam npoaax 1 noaaepXku obpallanTecs:

MBaHoBo (4932)77-34-06
Mxesck (3412)26-03-58
KasaHb (843)206-01-48
KanunuHrpagn (4012)72-03-81
Kanyra (4842)92-23-67
Kemepogo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

INuneuk (4742)52-20-81

MarnwuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41

HwxHuin Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
HoBocnbupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16

Mepmb (342)205-81-47
PoctoB-Ha-[loHy (863)308-18-15
Ps3aHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapatosB (845)249-38-78
Ceactononsb (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmMmoneHck (4812)29-41-54

Coun (862)225-72-31
Craspornonb (8652)20-65-13

EnuHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

SECTION 3
SOCKETS

Cypryt (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Ydba (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenogel (8202)49-02-64
Apocnasnb (4852)69-52-93




CONEC® 115



SAL M8x1/M12x1 SOCKETS

Nomenclature

(sfafid-J J-Jals] - Jriciriofala]-J | Jx}-Jol Jo4

8 = M8x1
12 =MI2x]
Coding
= A-coding (M12x1), Standard (M8x1)
B = B-coding
BS = B-coding shielded (M8x1)
S A-coding shielded (M12x1)

Design
F = Socket
| = Insolation body

Gender
K =Female connector
S = Male connector
Assembly
= Front panel mounting
P = Positioning possible, frontmounting
H = Back panel mounting
Type
D = Coupling nut turnable

\% = Square flange
VO = Square flange with o-ring sealing

Configuration
= Axial
W =Angled
Number of poles
3 = 3-pos. 8  =8-pos.
4 = 4-pos. 12 = 12-pos.
5 = 5-pos.
LED-Display
= Without LEDs
4L =4LEDs
Type of Connection/Installation height
X5  =Dipsolder 5.5 mm X11 = Dip solder 11.2 mm
X6  =Dipsolder 6 mm X12 = Dip solder 12.2 mm
X8  =Dipsolder 8.2 mm X13 = Dip solder 13 mm
X9  =Dipsolder 9 mm X15 = Dip solder 15.2 mm
X10 = Dip solder 10 mm
Pxx = Installation height one-piece socket
Xxx = lInstallation height two-piece socket

Screw connection

= M8x0.5 9 =IRGY
= M8x1 1 =PG11
=M12x1 12 =MI12x1
=M16x1.5

Cable quality

G2 =TPU, black, UL
G3  =PVC, grey, UL

CONEC®

SAL I
Sensor Actor Line
Type
= Standard
Installation size

P5,5 =Dip solder 5.5 mm
P6.75 = Dip solder 6.75 mm
P12 = Dip solder 12 mm

L = Solder termination

XX =Wire/Cable lenght [m]

20  =Square flange 20 x 20
26  =Square flange 26 x 26



SAL M8x1/M12x1 SOCKETS

Product specification

Contact

Contact plating
Contact carrier
Sealing

Counter nut
Socket housing
Sealing compound
Shielding
Shielding plated

Coupling nut turnable

Light conductor

CuZzn

Nickel plated. gold plated

PBT GF. UL 94 / PA. UL 94 / TPU GF. UL 94
FPM / NBR

CuZn. nickel plated

CuZn. nickel plated

Polyurethane-resin. UL 94

Spring steel

Sn plated

GD-Zn. nickel plated

PA 12

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage
Current rating
Insulation resistance
Degree of pollution
Degree of protection

Mating cycles

Recommended torque for housing: 0.8-1.2 Nm

Technical subject to change without notice.

IEC 61076-2-104 / IEC 61076-2-101

IEC 61076-2-104 / IEC 61076-2-101

IEC 60512

IEC 60664-1

IEC 60529

IEC 60512-9a

CONEC® 117




118

SAL 7/8" SOCKETS

Nomenclature

SAL
Sensor Actor Line

Installation size

7/8 =17/8"
Design
F = Socket
Gender
K = Female connector
S = Male connector
Assembly
= Front panel mounting
H = Back panel mounting

Number of poles

2 PE = 2-pos. + PE
4 = 4-pos.

4 PE = 4-pos. + PE

Type of Connection/Installation height

P10 = Dip solder 10 mm XX
X10 = Dip solder 10 mm

Pxx = Installation height one-piece socket
Xxx = Installation height two-piece socket

Wire cross-section

=0.75 mm?
150 =150 mm?
250 =2.50 mm?

Screw connection
=PG13.5
11 =PGI

CONEC®

siafil-J70 Q8] -Jric] Jal-Josi | ]|

=i )

= Wire length [m]



SAL 7/8" SOCKETS

Product specification

Contact CuZn

Contact plating Nickel plated. gold plated
Contact carrier TPU. UL 94

Sealing FPM

Counter nut CuZn. nickel plated
Socket housing CuZn. nickel plated
Sealing compound Polyurethane-resin. UL 94

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 60664-1
Overvoltage category IEC 60664-1 2
Overvoltage impulse IEC 60664-1 2.7kV
Current rating IEC 60512-3
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1
Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Technical subject to change without notice.

CONEC® 119



=T =
)
s £
8 =< 8§35
Front panel mounting, wire termination 2 § 23 3 £
5 S8 8 g8
S 225 8 &8 § =2
Es 8§ ¢ ¢ ¢ §
Female connector, M8x0.5 thread Contact assignment = S & O = = £ Description Part No.
wgx1 Pin 1 Q =2
Pin 3 W 3 > > PVC 24 0,2 SAL8-FK3-0,2 42-01000
Pin 4 N 2 =
Width across pe
flats 10 © Pin 1 mm g 8
- Pin2[]
Sealing i 4 >> 3 PVC 24 02 SAL8FK4-02 42-01001
Pin 4 3@
Pin 1
Pin 2]
Pin 3 5 B 30 3 PVC 24 0,2 SAL-8B-FK5.1-0,2 42-01069
. Pin 4 N
Pin 5
Pin 11 Pin 5
Pin 2 Pin 6
Pin 3 W Pin 7 8 A 30 15 PVC 26 0,2 SAL-8-FK8-0,2 42-01070
M8x0,5 Pin4C3J  Pingmm
Male connector, M8x0.5 thread
M8x Pin 1 Q ot
Pin 3 W 3 >~ > 3 PVC 24 0,2 SAL8-FS3-0,2 42-01032
E% Pin 4 M o 3
n
Width across @
flats 10 =1 - Pin 1 Q Q
- Pin2[1
Sea\ing—/ Pin 3 H 4 g g 3 PVC 24 0,2 SAL-8-FS4-0,2 42-01033
Pin 4 N n ©°
M8x0,5
Pin 1] Pin 5
Pin 2 Pin 6
Pin 3 W Pin 7 W 8 A 30 15 PVC 26 0,2 SAL-8-FS8-0,2 42-01165
— Pin 4] Pin 8 I
Pin 1] Pin 5
Pin 2 Pin 6
H Pin 3 W Pin 7 W 8 A 30 15 PVC 26 0,2 SAL-8-FS8U-0,2 42-01164
N Pin 4] Pin 8 I

120 CONEC® Technical information starting on page 348



T
£
S o g = = 5
Front panel mounting, dip solder termination, shielded S g 2 <
5 g8 § S
s S < 8
3 0§ 5%
Female connector axial, installation height 9 mm = O « O £ Description Part No.
983
3 > > 9 SAL-85-FK3-X9 42-01357
o 9
M8x1 n ©
Width across I Width across D O
flats 13 flats 12 < 9
4 => 4 9 SAL-85-FK4-X9 42-01365
o 9
~ el o
Sealing -
o — 5 B 30 4 9  SALBSFK5X9 42-01373
2 QY; f
PCB
8 A 30 15 9 SAL-85-FK8-X9 42-01385
Female connector axial, installation height 13 mm
98
3 > 4 13 SAL-8S-FK3-X13 42-01358
M10x1 o 8
x\:gqgcross—\ Mt 0
RN
4 >> 4 13 SAL-8S-FK4-X13 42-01366
Sealing o 8
N n
mmm o gI 5 B 30 4 13 SAL8SFK5XI3 42-01374
s T— IH&"Y_ f
PcB 8 A 30 15 13 SAL-8S-FK8-X13 42-01386
Female connector angled, installation height 11.2 mm
M10x1
M8x1 /—Fronl panel g 8
Width across | 3 => 4 11,2 SAL-8S-FKW3-X11 42-01417
flats 13 o
XEK @ Qe
Sealin,
oG
@ZD}
==n N U
“02 o (=)
5219 <<
__.\_ 4 => 4 11,2 SAL-8S-FKW4-X11 42-01425
PBC o
Qe
1,6 wn
Female connector angled, installation height 15.2 mm
M10x1
Width across ‘M D L
ELE e 3 <SS 4 152 SALSSHWIXIS 4201418
] T - > > ' ~0o7 - h
ey a8
Sealing ll t
L I
@ |
\L =Y
NS 98
| h 4 => 4 15,2 SAL-8S-FKW4-X15 42-01426
p+02 PBC o 8
21 LN
1,6

Technical information starting on page 348 CONEC® 121



122

T
£
g S = S
Front panel mounting, dip solder termination, shielded g gy 2 <
5 g § 8
S > = = S
T § %3 ¢ %
Male connector axial, installation height 9 mm 2 § & &8 & Description Part No.
M10x1
M8x1 g LQ)
269 3 >> 4 9 SAL-85-FS3-X9 42-01361
28
— == o
flats 13 ‘
ﬁ\w\rﬁ 5
Sealing .
3 N
@Jf 13 Qa
[ — ] f 4 > 4 9 SAL-85-FS4-X9 42-01369
=y =2
PCB
Male connector axial, installation height 13 mm
M10x1
Mex1 Q Q
76 3 >> 4 13 SAL-8S-FS3-X13 42-01362
o 9
Width across — » ©
flats 13
=
Sealing | @
== 38
YJ;' 4 => 4 13 SAL-8S-FS4-X13 42-01370
- o
PCB 3©
Male connector angled, installation height 11.2 mm
M10x1
M8x1
#6.9 RS
1 a
%%1 T 3 <>( g 4 11,2 SAL-8S-FSW3-X11 42-01421
R e
m‘i‘: 3a::rcvss\ / Front panel
e
Sealing 2
1 £
= S
i 0
= : 4 => 4 11,2 SAL-8S-FSW4-X11 42-01429
52192 o 9
12# _\pCB n
1L
Male connector angled, installation height 15.2 mm
M10x1
Méx1
N
%69 2 a
~Front panel 3 => 4 15,2 SAL-8S-FSW3-X15 42-01422
== g8
m&t:aacmsS\\ ‘ N @
Sealing A ‘
b w
- N
@, Qa
= 4 >~ > 4 152 SAL8S-FSW4-X15 42-01430
o 9
\PCB o ©
58152 N 16

CONEC®

Technical information starting on page 348




L [m]

Front panel mounting, wire termination

Wire cross section [AWG]

Current rating [A]
Wire material
Wire lenght

Coding
Rated voltage [V]

Number of poles

Female connector, M16x1.5 thread Contact assignment Description Part No.

Pin 1
Pin 2]
M12x1 Pin 3

Pin 4 I

c T
Width across — ~ Pin 1 W
flats 17 - Pin 201

~
>
N
a1
o
~
2
(@]

24 0,5 SAL-12-FK4-0,5 43-01000

20,5

Pin 3 5 A 60 4 PVC 24 05 SALI12-FK5-0,5 43-01001

Sealng Crry 1 b
Pin5H

Pin 1
Pin 2
Pin 3 5 A 60 4 PVC 24 05 SALI12-FK5.1-0,5 43-01045
Pin 4 I
Pin 5

Pin 1 Pin 5
M16x1,5 Pin 2 Pin 6

Pin 3 Pin 7 N
Pin 43 Pin 8 I

8 A 30 2 PVC 24 05 SAL-12-FK8-0,5 43-01002

Pin 1 Pin 7 N

Pin 2 N Pin 8

Pin3 [ Pin 9 I

Pin4EE  Pin 10 mE 12 A 30 15 PVC 26 05 SAL12-FK12-0,5 43-01331
Pin 5 Pin 11

Pin6J  Pin12 M

Female connector, PG9 thread

Pin 1
Pin 2]
Pin 3
Pin 4 I

4 A 250 4 PVC 24 05 SAL12-FK4-0,5-9 43-01073

Width across flats 17 Pin 1
\ q Pin 2]
Pin 3 5 A 60 4 PVC 24 05 SAL12-FK5-0,5-9 43-01075
Pin 4 I
Pin 5 M

12

20,5

Pin 1 Il
Pin 2]
Pin 3 W 5 A 60 4 PVC 24 05 SAL-12-FK5.1-0,5-9 43-01074
Pin 4
Pin 5

Pin 1 Pin 5
Pin 2 Il Pin 6

Pin 3 Pin 7 I
Pin 4 Pin 8 I

8 A 30 2 PVC 24 05 SAL12-FK8-0,5-9 43-01097

Pin 1 Pin 7 N

Pin 2 N Pin 8 I

Pin 3] Pin 9 I

Pnamm  pinjomm 12 A 30 15 PVC 26 05 SAL12-FK12-0,5-9 43-01345
Pin5 Pin 11 M

Pin6C  Pin12 M

Female connector with LED, M16x1.5 thread

M16x1,5
M12x1

e )

Pin 1

33,9

SW17 I Pin 4 mm

3.2

o
w
>

10-30

ST Width across “ 4 PVC 22 0,5 SAL12- FK3-41-0,5 43-01867

flats 17

o S UEIDN s =
Sealing

Technical information starting on page 348 CONEC® 123



—
€
=
NS
g =X § =
Front panel mounting, wire termination Y % 23 8 o
5 8 8 §8 2 <
5 S = & §
E3 & £ g
Female connector positioning possible, M16x1.5 thread Contact assignment = S & G = = = Description Part No.
Pin 1
Pin 2 SAL-12-
— 4 A 250 4 PVC 24 05 oo 43-01006
Pin 4 N
M12x1
Pin 1 mm
. Pin 2]
Width across ; SAL-12-
o Pin 3 H 5 A 60 4 PVC 24 05 43-01007
flats 17 - Pin 4 m FKP5-0,5
3 Pin 5 M
ﬁ e
Pin 2]
Sealing ‘ ' Pin 3 5 A 60 4 PVC 24 05 SAL12- 43-01053
Pin 4 FKP5.1-0,5
Pin 5
Pin 11 Pin 5
Pin 2 W Pin 6 SAL-12-
o posmm  poomm 8 A 30 2 PVC 24 05 Lo 43-01008
Pin 41 Pin 8 I
Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin 3] Pin 9 I SAL-12-
PinAmE  Pin 10mm 12 A 30 15 PVC 26 05 FKP12-05 43-01341
Pin 5 Pin 11 W
Pin 6 Pin 12
Female connector positioning possible, PG9 thread
Pin 1 I
i 4 A 250 4 PVC 24 05 ?’QHZO 5o 43-01091
Pin 4 W '
M12x1 Pin 1
| Pin 2] SAL12-
Pin 3 W -
Width across . P:: = 5 A 60 4 PVC 24 05 FKP5-0,5-9 43-01093
flats 17 - Pin5 M
Y Pin 1
Pin 20 SAL12-
Pin 3 H 5 A 60 4 PVC 24 05 43-01092
Sealing | : Pin 4 W FKP5.1-0.5-9
Pin 5
- Pin 11  Pin5mm
e PMCom 8 A 30 2 PVC 24 05 ?ﬁkgzo 5o 43-01101
PGo Pn4CJ  Pingmm '
Pin 1 Pin 7 N
Pin 2 Pin 8
Pin 3 Pin 9 I SAL-12-
Pin4mE  Pin 10 M 12 A 30 15 PVC 26 05 FKP12-0,5-9 43-01347
Pin5 Pin 11 M
Pin6[C  Pin 12 M
Female connector, square flange 20 mm
Pin 1
i 4 A 250 4 PC 24 05 Sl 4302084
Pin 4 W '
M12x1
Pin 1 Il
{ 22 § E 5 A 60 4 PVC 24 05 AU1Z 43-02085
o © 1 pin 4 "~ FKV05-0,5-20
b Pin 5 M
[T Pin 1 W
h\ E:: § E 5 A 60 4 PVC 24 05 AU1Z 43-02087
“ Fin 4 B > FKV05.1-0,5-20
3 sealing .
Pin 5
Pin 1] Pin 5
Pin 2 Pin 6 SAL-12-
P Fnimm  pnomm 8 A 30 2 PVC 24 05 Lo 43-02086
. Pin 4[] Pin 8 I
$13,2+30% - -
Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin3[J Pin 9 I SAL-12-
Pnamm  pnjomm 12 A 30 15 PVC 26 05 Lt oo 43-02088
Pin 5 Pin 11 W
Pin 6 Pin 12

124 CONEC® Technical information starting on page 348



Front panel mounting, wire termination

Female connector, coupling nut turnable, M16x1.

5 thread

Contact assignment

Number of poles

Coding
Rated voltage [V]

Current rating [A]

Wire material

Wire cross section [AWG]
=L[m]

Wire lenght

Description

Part No.

Width across flats 16

Width across flats 17
Seahng/‘

0145

Mi12x1

L

18

Pin 1
Pin 2]
Pin 3
Pin 4 N

>

N
wu
o

PVC

24 0,05

SAL-12-FKD4-0,05

43-01378

4

1

M16x1,5

Female connector, coupling nut turnable, M12x1

thread

Pin 1
Pin 2]
Pin 3
Pin 4 N
Pin5 M

60

PVC

24 0,05

SAL-12-FKD5-0,05

43-01381

Pin 1
Pin 2
Pin 3
Pin 4

Pin 5
Pin 6

Pin 7
Pin 8 I

[ee]

30

PVC

24 0,05

SAL-12-FKD8-0,05

43-01492

@145

M12x1

c am

Width across flats 13

Width across flats 17

25

Pin 1
Pin 2]
Pin 3
Pin 4 N

250

PVC

24 0,05

SAL-12-
FKD4-0,05-12

43-01493

Sealng

M12x1

Pin 1
Pin 2
Pin 3
Pin 4
Pin5 M

60

PVC

24 0,05

SAL-12-
FKD5-0,05-12

43-01494

Pin 1
Pin 2
Pin 3
Pin 4

Pin 5
Pin 6

Pin 7
Pin 8 I

30

PVC

24 0,05

SAL-12-
FKD8-0,05-12

43-01495

Technical information starting on page 348

~ o
CONEC® 125




L [m]

Front panel mounting, wire termination

Current rating [A]

Wire material

Wire cross section [AWG]
Wire lenght

Coding
Rated voltage [V]

Number of poles

Male connector, M16x1.5 thread Contact assignment Description Part No.

Pin 1
Pin 2]
Pin 3
Pin 4 N

IN
>
N
a1
o

PVC 24

o
5

SAL-12-FS4-0,5 43-01009
M12x1

— Pin 1
Pin 2]
Pin 3 5 A 60 4 PVC 24 05 SAL12-FS5-0,5 43-01010

Width across
flats 17 \
Pin 4 N

[ - Pin 5 M

T =
Sealing Pin 2[

Pin 3 W 5 A 60 4 PVC 24 05 SALI12-FS5.1-0,5 43-01049
Pin 4 N
Pin 5

13

20

Pin 1 Pin 5
Pin 2 Pin 6

Pin 3 Pin 7
Pin 4[] Pin 8 I

8 A 30 2 PVC 24 05 SALI12-FS8-0,5 43-01011

1
M16x1,5

Pin 1 Pin 7
Pin 2 Pin 8
Pin 3] Pin 9
Pin 4 Pin 10
Pin5 Pin 11 =

Pin6C  Pin12 MM

12 A 30 15 PVC 26 05 SAL12-FS12-0,5 43-01330

Male connector, PG9 thread

Pin 1

Pin 2]
Pin 3 W 4 A 250 4 PVC 24 0,5 SAL12-FS4-0,5-9 43-01082

M12x1 Pin 4 I
-

Pin 1
‘ﬁ\g_ﬁ Pin 2]
Pin 3 W 5 A 60 4 PVC 24 05 SAL12-FS5-0,5-9 43-01084
Pin 4 I
Pin5 M

(= Pin 1 W

Pin 2]
Sea\ing/jf\“;f Pin 3 5 A 60 4 PVC 24 05 SALI12-FS5.1-0,5-9  43-01083

Pin 4 N
Pin 5

4 Pin 1] Pin 5
Pin 2 Pin 6

Pin 3 . Pin 7 Il
Pin 4[] Pin 8

Width across
flats 17

13

20

8 A 30 2 PVC 24 05 SAL12-FS8-0,5-9 43-01099

PGY Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin 3] Pin 9
Pin4 W  Pin 10
Pin5 Pin 11 W

Pin6[C]  Pin 12 M

12 A 30 15 PVC 26 05 SAL12-FS12-0,5-9 43-01346

Male connector positioning possible, M16x1.5 thread

Pin 1
Pin 2]
Pin 3
Pin 4 N

4 A 250 4 PVC 24 05 SAL12-FSP4-0,5 43-01015

M12x1

Pin 1

Width across
flats 17 Pin 4 N
Pin5 M

Pin 1 Il
Pin2[]

Pin 3 I 5 A 60 4 PVC 24 05 SALI12-FSP5.1-0,5 43-01054
/ Pin 4 N
Sealing Pin 5 I

Pin 1 Pin 5
Pin 2 Pin 6

Pin 3 Pin 7
Pin 4[] Pin 8 I

13

Pin 2]
m\% Pin 3 5 A 60 4 PVC 24 05 SALI2-FSP5-0,5 43-01016

I

T

25

—

8 A 30 2 PVC 24 05 SAL12-FSP8-0,5 43-01017

M16x1,5 Pin 1 Pin 7
Pin 2 Pin 8
Pin 3] Pin 9 I
Pin 4  Pin 10 M
Pin 5 Pin 11

Pin 6]  Pin 12 M

12 A 30 15 PVC 26 05 SALI12-FSP12-0,5 43-01342

126 CONEC® Technical information starting on page 348



—
€)
=
N =
g =X § =
Front panel mounting, wire termination S S 23§ !
= o
R R
§ 25 § &£ & 3
Es § S @8
Male connector positioning possible, PG9 thread Contactassignment = S & 8 = = = Description Part No.
Pin 1
Pin 2 ) SAL12-
Pin 3w 4 A 250 4 PVC 24 05 FSP4-0.5-9 43-01094
Mi2xd Pin 4 N
, Pin 1
Width across Pin2LJ SAL-12-
flats 17 o Pin 3 5 A 60 4 PVC 24 05 43-01096
- T Pin 4 FSP5-0,5-9
H_F Q Pin 5
© Pin 1
Ej Pin2[] SAL12-
Seali I [ Pin 3 5 A 60 4 PVC 24 05 43-01095
ealing Pin 4 FSP5.1-0,5-9
» Pin 5
Pin 1 Pin 5 5
v Pin 2 Pin 6 SAL-12-
pos Pin 3 B Pin 7 8 A 30 2 PVC 24 05 FSP8-0,5-9 43-01102
Pin 4 Pin 8 I
Pin 1 Pin 7
Pin2ME  Pingmm
Pin3C1  Pinomm SAL-12-
Pnamm  pnomm 12 A 30 15 PVC 26 05 oo o 43-01348
Pin 5 Pin 11 =
Pin 601 Pin 12 mm
Male connector, square flange 26 mm
Pin 1
Pin2 [ SAL-12-
f— 4 A 250 4 PVC 24 05 [oucoe 43-01351
Mi2x1 Pin 4 N
== al
o Pin 1
" Pin2[J 1.
N Pin 3 5 A 60 4 PVC 24 05 SAL12 43-01352
o - Pin 4 FSV5-0,5-26
b Pin 5 M
e =
Pin 1] Pin 5
- \_Seali Pn2Em  Pin6 SAL12-
or?:slwzged seli-achesive  Pin 3 Il Pin 7 ‘BB OBl FSV8-0,5-26 4301353
Pin 4[] Pin 8 I
Pin 1 Il Pin 7 N
Pin 2 I Pin 8
Pin3CJ  Pin9mE SAL-12-
Fnomm  pintomm 12 A 30 15 PVC 26 05 [ o 43-01354
Pin 5 Pin 11 W
Pin6]  Pin 12 M
Male connector, square flange 20 mm
Pin 1
Pin 2 ) SAL12-
Pin 3 W 4 A 250 4 PVC 24 05 FSV4-0,5-20 43-01355
M12x1 Pin 4
N : Pin 1
o - Pin 2
- ; SAL-12-
R Pin 3 W 5 A 60 4 PVC 24 05 43-01356
0 0 Pin 4 F5v5-0,5-20
= L Pin 5 M
- Sealing Pin1C)  Pin5mm AL
Pin 2 Pin 6 AL-12-
Pnimm  rn7mm 8 A 30 2 PVC 24 05 Joni o 43-01357
Pin 4 Pin 8 I
@12
Pin 1 Pin 7
Pin2ME  Pingmm
Pin3C1  Pin9mm SAL-12-
Pnamm  pnomm 12 A 30 15 PVC 26 05 [ oo 43-01358
Pin 5 Pin 11 =
Pin 601  Pin 12 mm

Technical information starting on page 348 CONEC® 127



=
S
=
< S
g S < 5 %
Front panel mounting, wire termination S S 2 8 S
kS = S % kE'
N S N 9\ S
) = = b ) N
S £ ©- § S 9
E 5 & £ 2 &
S = QD .
Male connector, square flange 26 mm, IP67/1P20 = 8 & 38 = 4 Description Part No.
%
£
Lo «
ol ~
4 A 250 4 =9 © SAL12-FSVC4-26 43-02690
@14 N<;( o
M12x1 §
<
" <
£
b (] ! ) 29
o i A\ 5 A 60 4 52 5 SALI2ZFSVC526  43-02611
:ll Sealing square §< o
#6 <§(
3
£
29
5 A 60 4 %g B SALI2-FSVC5.1-26  43-02631
N
o~
=
<
3
£
2 «
8 A 30 2 g‘g & SALT12-FSVC8-26 43-02612
Tz >
~
=
<
Male connector, square flange 26 mm, IP67/1P65
3
£
285 % sALI2FsvCa26/
D.Om - - . N
s 4 A 250 4 Qigg A1065 43-02743
M12x1 é
: %
o £
A ! J 2855 sAL12-Fves26/
it ey (R "’ 5 A 60 4 sSL0nr 43-02744
2 : _\Sea\ingsquare N <§E& g A1065
S S
@18 <
2
£
285 % sALI2-FVCs]
o 5w sllZ= - !
5 A 60 4 EEEE 26/A1065 43-02745
e
=
&
£
SRS SALI2ZFVCE26/
c:_om -1 4= u N
8 A 30 2 EEEE A1065 43-02746
=
<

* in mated condition

** in unmated condition IP65; in mated condition IP67

128 CONEC® Technical information starting on page 348



. N g s =
Front panel mounting, solder termination/solder cup S g P2
= § 3
5 . N =
§ £ 3 ¢
- =
Male connector, M16x1.5 thread = N & 3 Description Part No.
M12x1
Width across flats 17 .
\ N . 4 A 250 4 SALI2-FsAL 43-02294
o
Sealing \rf\?ﬁ «
ol [ L =
0
# 5
5 A 60 4 SAL-12-FS5.1-L 43-02295
M16x1,5
Male connector, square flange 26 mm
M2kt 4 A 250 4  SALI2FSVAL26  43-02303
=LA}
B
&
el
o
=
2 ! Y
i © 5 A 60 4 SAL-12-FSV5.1-1:26  43-02304
?1 o
Sealing
onesided self-adhesive
Male connector, square flange 20 mm
M12x1
Al T 4 A 250 4 SAL-12-FSVO4-1-:20  43-02300
[T 1]
g 1]
- Uu Sealing
1 @
roser 5 A 60 4  SAL2-FSV05.1--20 43-02301
13,215

Technical information starting on page 348 CONEC® 129



T
£
- o 8 S =T 5
Front panel mounting, dip solder termination S g & 2
5§05
S > = - A
T 5§ 8 ¢ o3
Two-piece female connector, direct circuit board termination, installation height 5.5 mm 2 8 & 3 £ Description Part No.
g 4 A 250 4 55  SAL12-FK4-X5,5 43-01178
g4 %
[o]
Width across M12x1 ﬁ €
flats 15 £e 43-01179
= 4 A 250 4 55  SAL12S-FK4-X5,5 .
N\ =10 with shroud
. Front 2 2
- Sealing \ [panel & £
& - AL
. —— I i 5 A 60 4 55  SAL12-FK5-X5,5 43-01180
wn
© L i1 0
J I iei— - B N
©o| o _
Z" Shroud . 5 A 60 4 55  SAL12S-FK5-X5,5 43 S
PCB with shroud

Two-piece female connector, direct circuit board termination, installation height 10 mm

4 A 250 4 10 SAL-12-FK4-X10 43-01162

B4 £
) M1z 2 4 A 250 4 10 SsAL2SFKaxio 2301163
Width across X g & with shroud
flats 15 \ 3"
. fe
Front 2 E
. anel =&
Sealing P 2d 5 A 60 4 10 SAL12-FK5-X10 43-01164
&E
) - .
& [ ==1
43-01165
R . 5 A 60 4 10 SALI2SFKSXI0 o
] U__Uﬂ
© ©
| S Shroud l -
PCB 8 A 30 2 10 SAL-12-FK8-X10 43-01329
8 A 30 2 10 SAL-12S-FK8-X10 4.3_01332
with shroud

130 CONEC® Technical information starting on page 348



o N g s £
Front panel mounting, dip solder termination = & 2
b = IS
S = -
f 2 3 S
= = =
Two-piece female connector, angled, direct circuit board termination =] S & S Description Part No.
£
B4 &
] 4 A 250 4 SAL-12-FKW4 43-01200
M12x1 gE
SE
; Sealing / /’;;?!netl E%
Width across — l ;
e I 4301201
Iy — 17 - -
Shroud 1,5%8 4 A 250 4 SAL-12S-FKW4 with shroud
5 A 60 4 SAL-12-FKW5 43-01202
5 A 60 4 SALI2S-FKW5 4301203
E with shroud
2c
=E
Front 2T
S| Sealing panel £ &
Width across o
flats 15 < ht 8 A 30 2 SAL-12-FKW8 43-02638
Shroud h
\PCB
16
8 A 30 2 SAL-12S-FKW8 4.3-02639
with shroud
E
B4 R &
Mi2x 8 g
—— 2t
Front ] E
3| sealing—~] [Pf‘"e‘ &%
[ T H
o o 12 A 30 1,5 SAL-12-FKW12 43-02640
With across =] =~
flats 15 H;* < €
Shroud =59
\PCB
18
12 A 30 1,5 SAL-12S-FKW12 4.3-0264]
with shroud

Technical information starting on page 348

~ o
CONEC® 131




. . o g S =
Insulation body, dip solder termination = S >
S % s
s &2 < &
S 3 | &8 §
Female connector = QS [ Q  Description Part No.
38,235
9,500 (forflange housing) 8 A 30 2 SALI2IKWS 43-02796
Ul
z— Sealing\‘ } ‘/—Shroud
vl
m.] m@ &)
" P8 8 A 30 2 SALI2SIKWS 43-02797
1,6 with shroud
?8,2*3 05
@9,5+0.05 (for flange housing)
Shrous 12 A 30 1,5 SAL12-IKW12 43-02798
; Sealing—| /_ rou
*— ‘\ ! ‘l
#f
14 \PCB
18
12 A 30 15 SAL12S-IKW12 43-02799
with shroud

132 CONEC® Technical information starting on page 348



T
£
~ —
o o g < X 5
Front panel mounting, dip solder termination S ® = 8
S S =
5 § § 8§
g 2 § § S
. o o N £ § 5 § 8
Two-piece male connector, direct circuit board termination, installation height 5.5 mm 2 8 & 3 £ Desciption Part No.
E 4 A 250 4 55  SAL12-FS4-X5,5 43-01182
o«
Width across Mr2xt @ §
flats 15 \ 2
= SE y
= uE) 4 A 250 4 55  SAL12S-FS4-X5,5 43 s
B o with shroud
. Front g e
N Sealing [panel &E
C ==
= ey 5 A 60 4 55  SAL12-FS5.1-X5,5 43-01184
© [ i o
T LICUTT T
-—UUU/)‘X o
© | o
o Shroud - ]
o PCB 5 A 60 4 55 SALI2SFS5Ixss Go0M85
with shroud
Two-piece male connector, direct circuit board termination, installation height 10 mm
£
5 4 A 250 4 10 SAL-12-FS4-X10 43-01166
Width across ]
M12x1 oS
flats 15 \ —— g e
R %g
Front =& 4 A 250 4 10  SALI125-FS4-X10 4301167
Sealing panel 2 with shroud
- £e
& - =
i w::#_‘
o I_'_[ «© 5 A 60 4 10 SAL-12-FS5.1-X10 43-01168
- [+
~
© III T _ I H
[N I M g
(o) [le]
\ - 5 A 60 4 10 SALI2SFSs1xi0 301109
PCB with shroud
Shroud
Two-piece male connector, angled, direct circuit board termination
£
© 4 A 250 4 SAL-12-FSW4 43-01208
Width across M12x1 4]
flats 15 \ gt
r %é 43-01209
0, B -125- :
2 | Sealing [Fm”‘ = 4 A B 4 SAL12S-FSW4 with shroud
panel o £
) L I
P = oS 5 A 60 4 SAL12-FSW5.1 43-01210
<t
Shroud/ uvH:L >
i \PCB 5 A 60 4 SAL125-FSW5.1 4301211
16 with shroud

Technical information starting on page 348 CONEC® 133



—
S
=
-~ <z
o _ g == §=
Front panel mounting, wire termination, AWG 18 g2 ‘;.g 2 3 S
= =
S .3 888
§ 3 £ 5 & 2@
Female connector, PG13.5 thread, AWG 18 Contact assignment = S & O = = = Description Part No.
e - £ A 300 8 PvC 18 05 ANV/E 41-40006
7/8" - 16UN Pin 3 & ! FK2PE-0,5 i
[
x\ggtgfcross\ 1 ; o
T & P?n1-
Sealing——" (1 g::;E 4 A 300 8 PVC 18 05 SAL7/8-FK4-0,5 41-40007
T Pin 4
Pin 1 HH
PG13,5 Pin 2 w
- o SAL-7/8-
Eﬁ—m.- * A 300 8 PVC 18 05 FK4PE-0,5 41-40008
Pin 5[]
Female connector, PG11 thread, AWG 18
PE W w
@238 h o SAL-7/8-
- .
EECRETN b amm & A 300 8 PVC 18 05 popegs ST
x!gtz:cross—\ ! s ¢ i |
LI T 1 Pin 2] SAL7/8-
sonng b i 4 A 300 8 PVC 18 05 [ 41-40031
H Pin 4
i Pin 1 HH
Pin 2 w
PG11 o SAL-7/8- i
:Z;4I- z A 300 8 PVC 18 05 FK4PE-0,5-11 41-40032
Pin 5[]
Male connector, PG13.5 thread, AWG 18
@238 PE W w
7/8" - UN16 Pin 2 % A 300 8 PVC 18 05 SAL-7/8-FS2PE-05 41-40000
) Pin 3 ]
Width across T
flats 24 !
i =
CI~T T 1 +8 Pin 1
] i 4 A 300 8 PVC 18 05 SAL7/8F54-05  41-40001
Sealing * Pin 4 m
w Pin 1 N
PG13,5 Pin 2 I i
PE H % A 300 8 PVC 18 05 SAL-7/8-FS4PE-05 41-40002
Pin 4 l
Pin 5]
Male connector, PG11 thread, AWG 18
PE W w B -
p238 Pin 2 T A 300 8 PVC 18 05 i?ZLFZE/ 35_” 41-40024
718" - UN16 Pin 3 o~ '
|
kﬂ i I
W acroso— —
o e Pin 1 M
(O~ T 1 %8 Pin 2] SAL-7/8-
soang aiE — 4 A 300 8 PVC 18 05 oo 41-40025
Pin 4 HE
- U‘J U Pin 1
Pin 2 N w
o SAL-7/8-
rar o T A 300 8 PVC 18 05 [Ool 41-40026
Pin 5]

134 CONEC® Technical information starting on page 348



—
)
=
~ Sz
. . L 8 S < s =
Front panel mounting, wire termination, AWG 16 2 § 2 3 g L
S £ 5 8 » =
S o S = 8 8 °
S &2 5 § § ¢ 2
ESs 8 2 g
Female connector, PG13.5 thread, AWG 16 Contact assignment = S & O = = = Description Part No.
geas PE M e SAL-7/8-
= Pin 2 W -
Z - UNTE P::3- & A 300 12 PVC 16 05 FK2PE-0,5/150 41-40015
x\:ghgimss E !B
& Pin 1 =
pn2 < A 300 12 PVC 16 05 oY 4140016
Sealing L T H Pin 4 N ,
U Pin 1 HE
PGI35 Pin 2 W L SAL-7/8-
[ | & .
FF::EM- * A 300 12 PVC 16 05 FKAPE-0,5/150 41-40017
Pin 5
Female connector, PG11 thread, AWG 16
@238 PE M L SAL-7/8-
- Pin 2 W T -
N P2 T A 300 12 PVC 16 05 Lot isoy 4140039
x!gtg:cmss—\ } E %
(I~ 11 Pin 1w
Pin 21 SAL-7/8-
Seaing T g ¥ A 300 12 PVC 16 05 procison 41-40040
H Pin 4 W
i Pin 1 N
PG Pin 2 w SAL7/8-
u e ;
:EM- 3 A 300 12 PVC 16 05 FK4PE-0,5,/150-11 41-40041
Pin 5[
Male connector, PG13.5 thread, AWG 16
@38 PE W L SAL-7/8-
in 2 . G .
7/8" - UN16 g::g- 3 A 300 12 PVC 16 05 FS2PE-0,5/150 41-40009
Wi T
(I~ T i # P 1 s
- Pin 2 AL7/8-
. ! Pin 3 4 A 300 12 PVC 16 05 F$4-05,/150 41-40010
Sealing Pin 4 W !
Pin 1 N
PG135 Pin 2 I w
& ' SAL-7/8-
I;ﬁMI- 3 A 300 12 PVC 16 05 FSAPE-0,5/150 41-40011
Pin5CJ
Male connector, PG11 thread, AWG 16
$238 PE H w SAL-7/8-
. o
R Pin 2 I A 300 12 PVC 16 05 (o0l oo, 4140033
| Pin 3 HH '
m i I
Width across .| —
flats 24 - o
(I T ¢ gin;E SAL-7/8
ealing n - -
Seatng j‘ E i 4 A 300 12 PVC 16 05 oy’ g5 41-40034
u U Pin 4 N
'J Pin 1 N
PGt Pin 2 w SAL7/8-
u o .
:EM- * A 300 12 PVC 16 05 FSAPE-0,5/150-11 41-40035
Pin 5[

Technical information starting on page 348

CONEC® 135




—
)
=
~ Sz
S g =< _§2
Front panel mounting, wire termination, AWG 14 S S 23 5 L
S £ 5 8 » =
BB NN
TSF E s s o
T £ 5 &£ & 8
Female connector, PG13.5 thread, AWG 14 Contact assignment 2 S & 35 § = Description Part No.
$23.8
7/8" - 16UN PE W L
L ! SAL-7/8-
2mm & .
i::s- & A 300 16 PVC 14 05 FK2PE-0,5/250 41-40115
pisreim Il O]
\—Sealing
- \_ Pin 1
a0 Pin 2 = e SAL7/8-
[ )
pa135 E:EM- 3 A 300 16 PVC 14 05 FK4PE-0,5,/250 41-40116
Pin 5[
Female connector, PG11 thread, AWG 14
$238
7/8" - 18UN PE -
) & SAL-7/8-
- T =
g ) Pin2 = & A 300 16 PVC 14 05 Looroc osgq  41-40117
[ \D\]
F Sealing
RN — Pin |
flats 24 Pin 2 w SAL-7/8-
[ | -
o e T A 30016 PVC 14 05 Jonloc oo 4140118
Pin 5]
Male connector, PG13.5 thread, AWG 14
@238
71" ~UN16 PE W o]
Pin 2 S A 300 16 PVC 14 05 ANT/E 41-40119
— ; % T pin 3 & FS2PE-0,5/250
flats 24 BN T =
/& N 4
Sealing
‘ [,
- Pin 1 HE
Pin 2 w
SAL-7/8-
— PE M T -
e o = A 300 16 PVC 14 05 FSAPE-0,5/250 41-40120
Pin 5[]
Male connector, PG11 thread, AWG 14
@238
7/8" - UN16
PE W w
h SAL-7/8-
@ Pin 2 T -
B P::3- & A 300 16 PVC 14 05 FS2PE-0,5/250-11 41-40121
Width across —} ~
flats 24 0
(I~ 1 48
Sealing ‘
T
o I Pin 1 N
Pin 2 L
SAL-7/8-
[ T =
o EﬁM- A A 300 16 PVC 14 05 FSAPE-0,5,/250-11 41-40122
Pin 5

136 CONEC®

Technical information starting on page 348




T
=
o o 8 S = 5
Front panel mounting, dip solder termination = g @ 2
s % IS §
S @ & § =2
g 3 8 = S
Female connector, direct circuit board termination, PG11 thread 2 8 & 38 £ Description Part No.
SAL-7/8-
24PE A 300 1210 ool 41-40045
@238
718" - 16UN
.
Width across_\ ! SAL7/8
flats 24 1 - -
i 5 o 4 A 300 12 10 FK4-P10-11 41-40046
T )
e t
Sea\ing—/_l J:H:/\[:[
I l[]lljJ SAL-7/8- )
N o1 4+PE A 300 12 10 FKAPE-P10-11 41-40047
“ PG11
Female connector, direct circuit board termination, PG13.5 thread
SAL-7/8-
2+PE A 300 12 10 FK2PE-P10 41-40021
@238
7/8" 16UN
[
width across
fats2e N - SAL-7/8-
771/\ \% ggg 4 A 300 12 10 FK4-P10 41-40022
Sealmg——j
{UILDIDJ
?1 4+PE A 300 12 10 iﬁz‘;ég%o 41-40023
o PG13,5
Male connector, direct circuit board termination, PG11 thread
?23,8 SAL-7/8-
2+PE A 300 12 10 41-40042
) 7/8" - UN16 FS2PE-P10-11
width across
flats 24 \
N a SAL-7/8-
( D/\ j:r 1 PS 4 A 300 12 10 FS4-P10-11 41-40043
Sea\ing/ U
- #1 SAL7/8
pe - 4PE A 300 12 10 Loololon 41-40044
Male connector, direct circuit board termination, PG13.5 thread
SAL-7/8-
2+PE A 300 12 10 FS2PE-P10 41-40018
@238
7/8" - UN16
width across I
flats 24 \ ‘,
J:ég SAL-7/8-
‘, ~ ) 4 A 300 12 10 FSA-P10 41-40019
(TN T 148
/ }
Sealing T'D SAL7/8-
o &1 4+PE A 300 12 10 FS4PE-P10 41-40020
PG13,5

Technical information starting on page 348

CONEC® 137




L [m]

Back panel mounting, wire termination

Wire cross section [AWG]

Number of poles
Coding

Rated voltage [V]
Current rating [A]
Wire material
Wire lenght

Female connector, M12x1 thread Contact assignment Description Part No.

e Pin 1 W
Mex1 Pin 3 3
— Pin 4

i
i I
Width across flats 14 —\% Pin 1w
I - Pin2 [

Pin 3 I
L] Pin 4

SAL-8-FKH3-0,2 42-01147

50V AC/
60V DC
PVC
N}
~
o
N

24 02 SAL8-FKH4-0,2 42-01148

50V AC/

60V DC
w
PVC

w0
&
2
2
i.
1
16
i

Pin 1
Pin 2]
Pin 3 I 5 B
a Pin 4
Pin 5

24 02 SAL8B-FKH5.1-0,2 42-01149

w
s}
w

PVC

i “ Pin 1] Pin 5
’ Pin 2 Pin 6

@15 Pin 3 Pin 7 I
Pin 4 Pin 8 I

[ee]
>

30 15 26 02 SAL8-FKH8-0,2 42-01150

PVC

Male connector, M8x1 thread

M8x1
28,9 Pin 1

Pin 3 3
Width across Tt:?
flats 10

Pin 4 N
Sealingw
NI

24 0,2 SAL8-FSH3-0,2 42-01034

50 VAC/
60V DC
w
PVC

-

115
13,5

- Pin 1
Pin 2]
Pin 3
Pin 4

3 § 24 0,2 SAL8-FSH4-0,2 42-01035

50V AC/
60V DC

M8x1

Width across %
flats 10 \

Sealing N

IN|
LI

max. 3
11,5

Pin 1

Pin 2] %)

I Pin 3 5 B 30 3 2z 24 02 SAL8B-FSH5.1-0,2 42-01102
Pin 4 N

Pin 5

13,5

e mil

Pin 1] Pin 5

Pin 2 Pin 6 O
26,9 Pin 3 Pin 7 8 A 30 15 z 26 0,2 SAL-8-FSH8-0,2 42-01167
Pin 4] Pin 8 I

Width across
flats 10

Seahng—\‘
LI T

M8x1

max. 3

1,5

13,5

Pin 1 Pin 5
- Pin 2 Pin 6

Pin 3 Pin 7 Il
Pin 4 Pin 8

8 A 30 15 E) 26 0,2 SAL-8-FSHU8-0,2 42-01166

138 CONEC® Technical information starting on page 348



T
£
—_ -
o o 5 S < 3
Back panel mounting, dip solder termination 2 8 2 <
S = =
5 ER-
£ s s 8
Female connector, M12x1 thread 2 8§ & 8 £ Dpesription Part No.
9R
W2t 3 > > 55  SAL-8-FKH3-P55 4201143
o
M8x1 B ©
RS
) 20
T aerese \%% 4 S> 3 55 SALSFKH4-P55 4201144
0, e @
S| o N
Sea\ing\ ﬁ -
ﬁI Hﬂj 5 B 30 3 55 SAL8B-FKH5-P55 42-01145
@15
8 A 30 15 55 SAL8-FKH8-P55 4201146
Male connector, M8x1 thread
93
3 S> 3 55 SAL8FSH3-P55 42-01107
M8x1 2 3
76,9 28
4 S> 3 55 SAL8-FSH4-P55 4201108
xVidth g\cross 91 8
ats 1 TT .
Sealing Xf € - g-
\N TEHT 5 B 30 3 55 SALBBFSHSI-P55 4201114
Lo
8 A 30 15 55 SAL8-FS8P55 4201163
8 A 30 15 55 SAL8FS8U-P55 4201162

Technical information starting on page 348

CONEC® 139




T
£
S S g = = 5
Back panel mounting, dip solder termination, shielded S gy 2 <
B £ § 3
5 S & B
s 3§ § %
Female connector axial, installation height 6 mm = O « O £ Description Part No.
98
3 > > 6 SAL-85-FKH3-X6 42-01359
Mi2x1 o 8
o Mext -
X\ggtf}fcross- D 8
= 4 <>(> 4 6 SAL-8S-FKH4-X6 42-01367
Sealing A% Trj = 3

o,

=

IR
3.8

6105

wu
jos)
w
o
S
(2]

SAL-8BS-FKH5-X6 42-01375

2,8

8 A 30 15 6 SAL-8S-FKH8-X6 42-01387
Female connector axial, installation height 10 mm
N
Qa
3 > 4 10  SAL-8S-FKH3-X10 42-01360
Mi2x1 o o
e o
M8x1
. . : RS
Width across —~J¢ | —— < o
fats 14 SRR 4 S> 4 10 SAL8S-FKH4X10 4201368
Sealingw 2 o
. Hﬁ‘ : ;{ :I 5] B 30 4 10  SAL-8BS-FKH5-X10 42-01376
] Jk i h ¥

8 A 30 15 10  SAL-8S-FKH8-X10 42-01388

Female connector angled, installation height 8.2 mm

Mi2x1
RS
M8x1 (@) a
Width across —| 3 <>( Z 4 82  SAL-8S-FKHW3-X8 42-01419
flats 14 S )
Sealing | — Front panel
i
E 5
. 20
4 => 4 82  SAL-8S-FKHW4-X8 42-01427
7\PCE 2 o
Female connector angled, installation height 12.2 mm
M12x1
M8x1 D (@)
M oo a
Widhn acoss—| | @6°3" 3 S> 4 122 SALBSFKHW3X12 4201420
. o
o §,— Front panel 8 ®
iV AR TR Ve
Sealing =
I 38
N I ! 4 > > 4 122 SAL8S-FKHW4-X12  42-01428
28
127 LN
‘LS\PCB

140 CONEC® Technical information starting on page 348



T
£
o S g = = 3
Back panel mounting, dip solder termination, shielded S g 2 <
B g8 § S
s S < 8
t 3§ LB
Male connector axial , installation height 6 mm = O « O £ Description Part No.
N
M10x1 2 8
M8x1 3 > > 6 SAL-8S-FSH3-X6 42-01363
?6.9 =) 3
 —
— >y
) 20
X:g? Joross L‘\ 4 > Z 4 6 SAL-8S-FSH4-X6 42-01371
R
Sealing
5 B 30 4 6 SAL-8BS-FSH5.1-X6 42-01379
8 A 30 15 6 SAL-8S-FSH8-X6 42-01383
Male connector axial, installation height 10 mm
98
Mi0x1 3 > 4 10 SAL-8S-FSH3-X10 42-01364
o 9
M8x1 n ©
26,9
T N
—. Qa8
%ff 4 >> 4 10  SAL-8S-FSH4-X10 42-01372
Width across —| ‘ ‘ o 8
flats 12 N
I o
Seaira . 5 B 30 4 10 SAL8BSFSH5.1.X10 42-01380
' ||ﬁ‘|f R— :
] il i~
\—’ 8 A 30 15 10 SAL-8S-FSH8-X10 42-01384
PCB
Male connector angled, installation height 8.2 mm
M10x1
M8x1
6.9 :(\) =
3 > 4 8,2  SAL-8S-FSHW3-X8 42-01423
wn = . 23
stz N ‘ ©
T
Sealing — é ®
;/— Front panel
[ | i
- i i Q 2
= . 4 > 4 8,2  SAL-8S-FSHW4-X8 42-01431
= S B
wn
1.7 =4 PCB
1,6
Male connector angled, installation height 12.2 mm
M10x1
M8x1 N
26,9 2 a
3 >> 4 12,2 SAL-8S-FSHW3-X12 42-01424
. o
X\:tc;(r;zacross—\ %é :} 8 (e}
e \|—|P /—Fron( panel
Sealing
# e 38
4 => 4 12,2 SAL-8S-FSHW4-X12 42-01432
28
wn
\PCB

Technical information starting on page 348 CONEC® 141



L [m]

Back panel mounting, wire termination

Number of poles

Current rating [A]

Wire material

Wire cross section [AWG]
Wire lenght =

Coding
Rated voltage [V]

Female connector, M16x1.5 thread Contact assignment Description Part No.

Pin 1
Pin 2]
Pin 3
Pin 4 N

Pin 1

r iy Pin 2]

' L& Pin 3 I 5 A 60 4 PVC 24 05 SALI12-FKH5-0,5 43-01004
Width across flats 19 Pin 4

Pin 5 M

Pin 1

Sealing\ T T Pin 2]

= }_|L I Pin 3 I 5 A 60 4 PVC 24 05 SALI12-FKH5.1-0,5 43-01048
Pin 4 I

Pin 5

N
>
N
Tl
o
~

PVC

N
ES
=}
wul

SAL-12-FKH4-0,5 43-01003

20,5

a Pin 1] Pin 5
Pin 2 Pin 6

Pin 3 Pin 7
Pin 4] Pin 8 I

8 A 30 2 PVC 24 05 SALI12-FKH8-0,5 43-01005

M16x1.,5

Pin 1 Pin 7

Pin 2 Pin 8

Pin 3] Pin 9

pamm  pnjomm 12 A 30 15 PVC 26 05 SALI2-FKHI2-05  43-01343
Pin5 Pin 11 W

Pin6C  Pin12 MM

Female connector, PG9 thread

Pin 1

Pin 2]
Pin 3 4 A 250 4 PVC 24 0,5 SAL-12-FKH4-0,5-9 43-01079

Pin 4 I

Pin 1
Pin 2]
L % Pin 3 I 5 A 60 4 PVC 24 05 SAL12-FKH5-0,5-9 43-01081

Width across flats 19 P!n 4
Pin5 M

Pin 1

f\ /j Pin 2]

Seal

g — T T T Pin 3 I 5 A 60 4 PVC 24 05 SALI2-FKH5.1-0,5-9 43-01080
f Pin 4 HE

Pin 5

Pin 1] Pin 5

Pin 2 Pin 6

b omm  bnomm 8 A 30 2 PVC 24 05 SALI2-FKH8:059  43-01098

Pin 4[] Pin 8

18

20,5

PG9 Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin3[J Pin 9 I
Pin 4  Pin 10
Pin5 Pin 11 M

Pin 6]  Pin 12 M

12 A 30 15 PVC 26 05 SAL12-FKH12-0,59  43-01349

142 CONEC® Technical information starting on page 348



—
S)
=
-~ <=
g = 5 =
Back panel mounting, wire termination S 3 23 s !
§ » S = 8 8§ g
S 2 < § £ &S X
ES & £ 8 8 @
Male connector, M16x1.5 thread Contactassignment = S & S S = = Description Part No.
Pin 1
Pin2[J
pin 3 4 A 250 4 PVC 24 05 SAL12-FSH4-0,5 43-01012
Pin 4 HE
Pin 1
Pin2[]
M12xt Pin 3 I 5 A 60 4 PVC 24 05 SAL12-FSH5-05 43-01013

Pin 4 N
Pin 5

Pin 1
Pin 2]

Sealing (LT : Pin 3 5 A 60 4 PVC 24 05 SALI2-FSH51-0,5  43-01052
\J—l l_lL Pin 4 N

Width across
flats 19

19

215

Pin 5

Pin 1 Pin 5
Pin 2 Pin 6

- Pin 3w Pin 7 8 A 30 2 PVC 24 05 SAL12-FSH8-0,5 43-01014
1 Pin 4] Pin 8 I
M16x1,5 Pin 1 . Pin 7

Pin 2 Pin 8
Pin 3] Pin 9 I
Pin 4 Pin 10
Pin5 Pin 11 M

Pin6C  Pin12 M

12 A 30 15 PVC 26 05 SALI12-FSH12-0,5 43-01344

Male connector, M16x1.5 thread

Pin 1
Pin 2]
Pin 3
Pin 4 I

4 A 250 4 PVC 24 05 SAL12-FSH4-0,5-9 43-01088

Pin 1
Pin 2]

Pin 3 I 5 A 60 4 PVC 24 05 SAL12-FSH5-0,5-9 43-01090
Width across ﬁﬂ\a

M12x1

Pin 4

Pin 5 M

Pin 1

Sealing Pin2[1

. u Pin 3 W 5 A 60 4 PVC 24 05 SAL12-FSH5.1-0,5-9 43-01089
= T Pin 4 N

Pin 5

- Pin 1 Pin 5
Pin 2 Pin 6

Pin 3 Pin 7 Il
PG Pin 4[] Pin 8

flats 19

20,4

215

8 A 30 2 PVC 24 05 SALI2-FSH8-0,5-9 43-01100

Pin 1 Pin 7 N
Pin 2 I Pin 8
Pin 3] Pin 9 I
Pin 4  Pin 10
Pin5 Pin 11 M

Pin 6]  Pin 12 M

12 A 30 15 PVC 26 05 SALI12-FSH12-05-9  43-01350

Technical information starting on page 348 CONEC® 143



—
)
=
-~ < 5
g S < § 8
Back panel mounting, wire termination S S 2 3 S
‘*5 = E “ kE"
5 s 5 & °©
§ & 5 5 S 8
K H B
Male connector, M20x1.5 thread, IP67/1P20 = S & G = Q Description Part No.
%
=
Lo «
o~
i 4 A 250 4 %g & SAL12-FSHC4 43-02691
. S =
M12x1 §< -
<
|
b T calin I
@ /S "o Qo
I 7L 11 2a !
= 5 A 60 4 %g B SAL12-FSHC5 43-02613
w ‘ A< =
‘ .
<
3
=
Lo «
o ~
5 A 60 4 52 & SALI2-FSHCS.] 43-02632
NI
g
<<
3
=
2 «
8 A 30 2 %g B SAL12-FSHC8 43-02614
N
g
<
Male connector, M20x1.5 thread, IP67/1P65
3
=
2857 SsALI2ZFSHCA,
4 A 250 4 S98n~ - 43-02747
éggg A1065
M20x1,5 (&)
M12x1 %
2 Width across é
ol = | % flats SW24 =
; @; |~ seairo . P 2355 sauirsHes/ 23.02748
I [T 11 SSE P AI065
R a
2
=
285 7% SALI2ZFHCE1/
Q_Ol.ﬁ - - . .
5 A 60 4 §§§§A1065 43-02749
§ a
=3
&
=
SRNT sAL2-FSHCS/
209 14T _
8 A 30 2 §§§§ P 43-02750
€
<

* in mated condition

** in unmated condition IP65; in mated condition IP67

144 CONEC® Technical information starting on page 348



T
=
g = T 5
Back panel mounting, solder termination/solder cup S & £ <
. S =
S s & g
S o = 2 S
Male connector, M16x1.5 thread 2 8 & 8 £ Desciption Part No.
mﬂggcrOSS\ Mi2x1 4 A 250 4 55 SALI2-FSH4-L 43-02297
Sealing rﬁﬁ% a Xn
\,u 10
m’I ]
© ]l
1 - 5 A 60 4 55 SALI2-FSHSI-L  43-02298
M16x1,5
Vd o)

Technical information starting on page 348

A\ T4

INEC® 145




B
£,
_ =
. L k| S < 5
Back panel mounting, dip solder termination 2 3 2 <
Y S = <
S = S .S
S = S = B
s 3 § f 8
Female connector, M16x1.5 thread, installation height 5.5 mm = 8 & g £ Description Part No.
121 4 A 250 4 55 SALI2-FKH4-P55  43-01026
Width across W
flats 19 ol o
Sealing g
5 A 60 4 55  SAL12-FKH5-P5,5 43-01027
KT =1
™ Il\ [ 11T
190
M16x1,5
8 A 30 2 55  SAL12-FKH8-P5,5 43-01028
Female connector, M16x1.5 thread, installation height 12 mm
M12x1 4 A 250 4 12 SAL-12-FKH4-P12 43-01029
With accross 3
flats 19 o] o
Sealing % - &
5 A 60 4 12 SAL-12-FKH5-P12 43-01030
N
LT ] 11
o
o
M16x1.5 8 A 30 2 12 SAL-12-FKH8-P12 43-01031
Female connector, PG9 thread, installation height 5.5 mm
Mizx1 4 A 250 4 55 SALI2-FKH4-P559  43-01059
Width across —\ i
flats 19 ol o
Sealin - T ‘?;
¢ fj rj 5 A 60 4 55  SAL12-FKH5-P5,5-9  43-01061
0 = |
0
T
PGY
8 A 30 2 55  SAL12-FKH8-P5,5-9  43-01063
Female connector, PG9 thread, installation height 12 mm
M12x1 4 A 250 4 12 SAL-12-FKH8-P12-9 43-01060
Width aCross —\| 3
flats 19 o| v
seal S T | g
ealing
\f H) 5 A 60 4 12 SALI2FKH5P12-9  43-01062
[ M
o
U
G 8 A 30 2 12 SALI2-FKH8-P129  43-01064

146 CONEC® Technical information starting on page 348



T
£
. o 3 = I 5
Back panel mounting, dip solder termination S y 2 <
s |8 § S
5 o S = 8
Q = = S =
s 3§ § ¢
Two-piece female connector, direct circuit board termination, installation height 5.5 mm = S & G £ Description Part No.
4 A 250 55  SAL12-FKH4-X5,5 43-01186
£
&
@14 %
2E _
M1 | widthacross £ ¢ 4 A 250 4 55 SALIZSFHaxss @ ASON7
flats 14 £E with shroud
= zw
o N
i Width S <
- e\ | A 5 A 60 4 55 SALI2FKHSX55  43-01188
L] | 0
@ [ oLl i
1 | \U /!I N
@l o 4
J Shroud \ - 5 A 60 4 55  SAL12S-FKH5-X5,5 L.B ULie)
PCB with shroud

Two-piece female connector, direct circuit board termination, installation height 10 mm

4 A 250 4 10 SAL-12-FKH4-X10 43-01170

£
£ -
% 4 A 250 4 10 SALT2SFKHaxio 23017
@14 g £ with shroud
M1 21 ' 5 E
] flats 14 SE 5 A 60 4 10 SAL-12-FKH5-X10 43-01172
Sealing Front panel
3 rT ” ’/\
) - ST 43-01173
© - Width across © 5 A 60 4 10 SAL-12S-FKH5-X10 .
~ 1 flats 15 with shroud
A T

3.3
29

[ E—" ) *) /
T ©
Shroud \ .
PCB

8 A 30 2 10 SAL-12-FKH8-X10 43-01334

43-01335

8 A 30 2 10 SAL-12S-FKH8-X10 with shroud

Technical information starting on page 348 CONEC® 147



B
£
o o % = < 5§
Back panel mounting, dip solder termination 2 & £ <
S =
S s & g
S > N = E
< S = S =
g T 5 S 2
Two-piece female connector angled, direct circuit board termination 2 S8 € § £ Description Part No.
£
@14 ‘E
o 38 4 A 250 SAL12-FKHW4 43-01196
Width gé
== |/ 6
) Sealing / /-Fvompane\§é
L ] : ~ 4 A 250 4 SAL-12S-FKHW4 43-01197
t = ol § with shroud
Width across
flats 15 ‘?PCB
- . 5 A 60 4 SAL12-FKHWS5 43-01198
P14 §
Wiz gc
Widih across 5 €
. e 4301199
g =" t [t £ 5 5 A 60 4 SAL-125-FKHW5 i
B =
==
i scross N e 8 A 30 2 SAL-12-FKHW8 43-02739
ats 1.6
16
£
— 43 43-02740
iz £ 8 A 30 2 SAL12S-FKHW8 >
Width across £ & with shroud
gN A /— ont panel & °E
=L o = 12 A 30 15 SAL-12-FKHW12 43-02741
) |
X\;lidsﬂ‘\;cmss J\ e
16
- 43-02742
18 12 A 30 15 SAL-12S-FKHW12 .
with shroud
Female connector with shielding, M16x1.5 thread, installation height 6.75 mm
165 4 A 250 4 675 SALI2S-FKH4-P675 43-01663
M12x1
Width across JTE» ®|w
':‘5‘“’ 11—19 8 5 A 60 4 675 SALI2SFKH5-P6,75 43-01664
ealing
oV LI NI T
<y
: Wmﬁt
@14,5 &
8 A 30 2 6,75 SAL-12S-FKH8-P6,75 43-01665

148 CONEC® Technical information starting on page 348



~
IS
= £
g S < = 8
Back panel mounting, with cable, shielded = $ 21 8
S 2 3 <
§ » 8 & §5 &
S £ v § = S
E 3 & £ g g
Female connector, M16x1.5 thread, TPU, UL, halogenfree, Li9YC11Y Contact Assignment = S & S = = pescription Part No.
SAL-125-
W21 4 A 160 4 05 025 FKH4-0,5/G2 43-02312
Width across
flats 19 ¥
Sealing 2 g’
\Tﬁ L‘[ 8 i
, g iPin2iJ SAL-125-
idin across ¥ in’ 4 A 160 4 1 025 J 43-02365
[Pin4 !
il
M16x1,5
D 4 A 160 4 2 025 ?QII:ILZZS/GZ 43-02366
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
4 A 160 4 05 025 43-02313
M12x1 FKH4-0,5/G3
Width across
flats 19 ¥
Sealing “TJEP * é’,— f——n
« IPin 1.
_\Tﬁ — 0 1Pin 2| SAL-12S-
Width across 9 }Pin3:- 4 A 160 4 1 025 FKH4-1/G3 43-02367
flats 19 IPin 4 mm -
[Pin4}
M16x1,5
SAL-12S-
o 4 A 160 4 2 025 FKH4-2/G3 43-02368
!
Female connector, M16x1.5 thread, TPU, UL, halogenfree, Li9YC11Y
SAL-12S-
o 5 A 60 4 05 025 FKH5.1-0,5/G2 43-02314
Width across
flats 19 A#
Sealing % e N,
8 |Pin 10
\"ﬁ* T o P2 SAL12S
; q IPin 3| 125> .
X\:gﬂ:gacross iPi"4i- 5 A 60 4 1 0,25 FKH5.1-1/G2 43-02369
Pin 5
-
M16x1,5
D 5 A 60 4 2 025 ?2515215-_2 /G2 43-02370
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
5 A 60 4 05 025 43-02315
i FKH5.1-0,5/G3
Width across -
flats 19 ¥
Sealing % e §" [Pin 17
\T‘i ET - iPinZiE\ B
) o Pin3 -125-
X\;gqgacross g iPi”“i- 5 A 60 4 1 025 FKH5.1-1,/G3 43-02371
{Pin s
.
M16x1,5
SAL-12S-
o 5 A 60 4 2 025 FKH5.1-2/G3 43-02372

Technical information starting on page 348

CONEC® 149




T
=
o o 8 S
Back panel mounting, dip solder termination S g 2 8
5 8 § 8
5 o & = 8
£ 5 83 ¢ ®
Male connector, M16x1.5 thread, installation height 5.5 mm = 8§ & & £ Description Part No.
Mi2xt 4 A 250 4 55 SALI2-FSH4-P55  43-01032

Width across
flats 19 \ —
Sealing . s

‘( = ] 5 A 60 4 55  SAL12-FSH5-P5,5 43-01033

215

KRBT

M16x1,5

8 A 30 2 55  SAL12-FSH8-P5,5 43-01034

Male connector, M16x1.5 thread, installation height 12 mm

Mi2x1 4 A 250 4 12 SAL-12-FSH4-P12 43-01035

Width across
flats 19 \
Sealing

19
215

@ 5 A 60 4 12 SAL-12-FSH5-P12 43-01036

12

M16x1,5 8 A 30 2 12 SAL-12-FSH8-P12 43-01037

Male connector, PG9 thread, installation height 5.5 mm

4 A 250 4 55  SAL12-FSH4-P55-9  43-01065

215

Sealing

Width across %
flats 19 N >

5 A 60 4 55  SAL12-FSH5-P5,59  43-01069

55

8 A 30 2 55  SAL12-FSH8-P5,5-9  43-01071

Male connector, PG9 thread, installation height 12 mm

4 A 250 4 12 SAL-12-FSH4-P12-9 43-01066

Width across

flats 19 - ky
Sealing %\E | 5 A 60 4 12 SAL-12-FSH5-P12-9 43-01070

215

12

8 A 30 2 12 SAL-12-FSH8-P12-9 43-01072

150 CONEC® Technical information starting on page 348



B
£,
o o 8 S
Back panel mounting, dip solder termination S 2 2
s & § 8§
5§ & S = B
T £ 3 § 3
= = =
Two-piece male connector, direct circuit board termination, installation height 5.5 mm 2 8§ & 3 £ Description Part No.
4 A 250 55  SAL-12-FSH4-X5,5 43-01190
Front panel
M12x1 e
£ 43-01191
‘QQ,";QS\E §§ 4 A 250 4 55  SAL12S-FSH4-X5,5 with i
flats 14 SE
o o E
by Sea\ing@/\rﬁ\ﬁﬂ
J S T o 5 A 60 4 55 SALI2-FSH5.1-X55  43-01192
P T
oF =
Width 43-01193
ﬂa'mgmss PoB Shroud 5 A 60 4 55  SAL12S-FSH5.1-X5,5 widh sliand
Two-piece male connector, direct circuit board termination, installation height 10 mm
Front panel 4 A 250 4 10 SAL-12-FSH4-X10 43-01174
£
M12x1 2
48
Width § . 43-01175
B it 4 A 25 4 10 SALIZSFSHAXI0 ol CC
flats 14 g‘r‘:‘
@ Sealing ) 8€
- © 5 A 60 4 10 SAL-12-FSH5.1-X10 43-01176
- -1
j — %] \\\;
2
«©
Width across Shroud 43-01177
flats 15 PR 5 A 60 4 10 SAL-12S-FSH5.1-X10 with shroud
Two-piece male connector, angled, direct circuit board termination
Front panel 4 A 250 4 SAL12-FSHW4 43-01204
1
Width £
8 E
£t 4 A 250 4 SAL12S-FSHW4 LRI
° =z with shroud
= Sealing AN &E
- i
p |
N | =1  R 5 A 60 4 SAL-12-FSHWS.1 43-01206
Width / /&Q’—: h
C ) A
Shroud 18 5 A 60 4 SAL-12S-FSHWS. 1 43-01207
with shroud
Male connector with shielded conection, M16x1,5 thread
M16x1.5 4 A 250 4 675 SALI2S-FSH4-P6,75  43-02204
Mi2x1
Width across \u%
flats 19
Sealing r j:rj A
[N L]
0 LTI [ T1T
< E-D_L i 5 A 60 4 6,75 SAL-12S-FSH5.1-P6,75 43-02205
214,5 2

Technical information starting on page 348 CONEC® 151



~
g
~ T T
o : g = < 3 §
Back panel mounting with cable, shielded B g 2 0 8
5 £ 8 35 3
5 o 8 = § ¢
S £ v § = O
E 5 & § g g
Female connector, M16x1.5 thread, TPU, UL, halogenfree, Li9YC11Y Contact Assignment = S & S = = Description Part No.
SAL-12S-
M2t 4 A 160 4 05 025 FSH4-0,5/G2 43-02308
Width across
flats 19 g ol o
Sealing\u %\4 & § },P_m_]j:-
= LT 3 \P!I’I2|:| SAL-12S-
Widith across }Pm 3 :- 4 A 160 4 1 025 43-02349
flats 19 Pind | FSH4-1/G2
, [Pin4}
M16x1,5
e 4 A 160 4 2 025 iélhzlxzzs/cz 43-02350
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
W2t 4 A 160 4 05 025 FSH4-0,5/G3 43-02309
1V|vai!dsﬂ1] 5jlcruss g%
Sealing\ iﬁ & }rP—m—]w:-
. T =TIt g \Pin2, SAL-12S-
Width across }Pin 3 :- 4 A 160 4 1 0,25 43-02351
flats 19 1pin 4 mm FSH4-1/G3
, [Pin4}
M16x1,5
° 4 A 160 4 2 025 ig:fzs/@ 43-02352
Female connector, M16x1.5 thread, TPU, UL, halogenfree, LIOYC11Y
SAL-12S-
e 5 A 60 4 05 025 FSH5.1-0.5/G2 43-02306
X\ggﬁgcross@
Sealing S [Pin 1) .
—\Tﬂ,iﬁ g {Pin2i SAL12S
) = IPin 3| 125 ;
x\ggqgacross iPi"4i- 5 A 60 4 1 025 FSH5.1-1/G2 43-02353
o {Pin 5|
.
M16x1,5
£ 5 A 60 4 2 025 ig:;zlsz 6 43-02354
Female connector, M16x1.5 thread, PVC, UL, LiYCY
SAL-12S-
wa_ 5 A 60 4 05 025 FSH5.1-0,5/G3 43-02307
X\;igﬁ::cross E@
Sealing =N [Pin 17 mm
T N iFin2] SAL12S
) ¥ {Pin 3| 125 "
)ﬁlgtqgacross iPi"4i- 5 A 60 4 1 025 FSH5.1-1,/G3 43-02355
1Pin 5
I {Pin5}
M16x1,5
3 SAL-12S-
5 A 60 4 2 025 FSH5.1-2/G3 43-02356

152 SONEC®

Technical information starting on page 348




—
S
=
-~ Tz
. . o 3 S < s =
Back panel mounting, wire termination S T 25 8§
s S£33§ 7 %
5 » S = 8 8 9
S 2 < 5 £ S X
EsfSegee
Male connector, AWG 18 Contact Assignment = S & O = = = Description Part No.
PE M w SAL7./8-FSH2PE-
8- UN16 ?n§= ¥ 300 8 PVC 18 05 o 41-40003
n i
Width across ff i
flats 27 \ i
| n
| ok = SAL7/8
Sealing Pin 2] -7/8-
%’ Pin 3 4 300 8 BVC 18 05 L/ 55 41-40004
! Pin 4 HE
\H Pin 1 N
3 Pin 2 N ] _ _ -
e om S 300 8 pvc 18 05 AW/BPHAPE 4 40005
Pin 4 = 05
Pin 5[
Male connector, AWG16
PE W i
Pin 2 I = 300 12 PVC 16 05 SAL7/8-FSH2PE- 41-40012
778" - UN16 Pin 3 M ~ 0,5/150
Width across —
flats 27 \
W ol g Pin 1 . g
Sealing g Pin 2] AL-7/8- )
<= - i — 4 300 12 PVC 16 05 FSHA-0,5/150 41-40013
L Pin 4 N
L L]
I H -
ki E'E”- g 300 12 PVC 16 05 AU7/BFSHAPE 41-40014
Pin 4 ~ "~ 05/150
Pin 5]
Male connector, AWG14
7/8" - UN16 PE ™ W
v R Pin 2 W T 300 16 PVC 14 05 SAL7/8-FSH2PE- 41-40123
Width across } Pin 3 W o~ 0,5/250
flats 27 \ i
| o
| 88
Sealing
%‘ ,
\\‘ ! !
Pin 1 HE
4 Pin 2 w
SAL-7/8-FSHAPE-
[ | & .
U Eﬁw- ¥ 300 16 PVC 14 05 05,250 41-40124
Pin 5[]

Technical information starting on page 348 CONEC® 153



T
=
o o 9 S < 5
Back panel mounting, dip solder termination S D 8
s 8 8§ S
5 & & = B
T S 3 8 3§
= = =
Two-piece female connector, direct circuit board termination, installation height 10 mm S 8§ & 3 8 Description Part No.
2+PE 300 12 10 SAL7/8-FSH2PEX10 41-40048
7/8" - UN16
Width —
flalts‘27a crose \ T
Sea“"g\CE?;ggﬁ & 4 300 12 10 SAL7/8FSH4-XI10  41-40049
b L]
- |
-
@31
4+PE 300 12 10 SAL7/8-FSH4PEX10 41-40050

ApxaHrenbck (8182)63-90-72
AcTtaHa (7172)727-132
ActpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsiHck (4832)59-03-52
BnagusocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bornoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTtepuH6bypr (343)384-55-89

Mo Bonpocam npoaax v NoaaepXku obpallanTechs:

MBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
Kemeposo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Jvineuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41

HwxHuin Hosropog (831)429-08-12
HoBokysHeuk (3843)20-46-81
HoBocunbupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16

Mepmb (342)205-81-47
Poctos-Ha-[loHy (863)308-18-15
PssaHb (4912)46-61-64

Camapa (846)206-03-16
CankT-MNeTepbypr (812)309-46-40
Capartos (845)249-38-78
Cesacronornb (8692)22-31-93
Cumdeponons (3652)67-13-56
CmorneHck (4812)29-41-54

Coun (862)225-72-31
CraBpononb (8652)20-65-13

EavHein agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsHoBCK (8422)24-23-59
Yda (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93





